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Current Status

* Does not distinguish transverse and longitudinal;
momentumes.

e Statistics based on 13k events yield about 6k

dependent and independent entries with lookBack
of 1.



[atest statistics
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Same statistics with lookBack=5
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Problems

e 10GDb bufter
e TPCRTrack vs HBTTrack

— requires to re-analyze code after changes have been
made to either one

— better 1deas to avoid dependencies?



Future

e Keep crunching the statistics.

* Distinguish between transverse and longitudinal
momentums.

e Use vertices rather than tracks as primary data.

— makes easy to pick the primary vertices.



